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Write a note on the problem of land degradation in India with reference to :
(¢) Salinity and élkalinity
(b) Desertification.
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‘What is meant by land degradation ? Explain with reference to soil erosion.
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Discuss the characteristiés of rainfall in India. |
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What are the main seasons of India ? Outline the main characteristics of each of them.
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Highlight the major forest types in India and bring out their characteristic features.
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Or
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Bring out the uses of forest products in India.
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Explain in detail the consequences of urbanisation on water in urban areas of India.
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Explain in detail the consequences of industrialisation on air in urban areas of India.
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What do y01.1 understand by social justice- ? How is it helpful in attaining-sustainable devel;)pment

for India ?
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What is sustainable development ? Throw light on the concept.
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